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Vol =
FER N E
TE4 | R 6 RSN EHETHF
TEHEX Sy - THE - R B {7 ¥ = & # il pall 2! EN
B A& =X 1 21, 310, 921
EEEET = 1 18, 625, 398
HEEFTHR 2 1 X 1 1,473,782 | &R O 1 =
TAT7 W MERZE R EEEE 100mm ;
EHEERRAAR (B L) 240 m2
TAT7VMERSE AR AfFERRE 10cm ;
GEaL-tilld 24 m3
TA7 7 (RED
By 24 m3
TA7 7 (RED
) 240 m2
FADHDR T A2y (20) SH%EE 50mm 3. Omid ;
] 240 m2
FASHLRI T A2y (20) AH%EE 50mm 3. Omi ;
BIYF—n" =4 T =X 1 13,781,016 | BIHIA-N" -1 ( 4, 860 m2
TemPh T —f@ B3 0 O FAESRLET A2y
(20) #&HZEE 50mm ;
s (& B A 243 m3
TA7 7 (BIED)
By 243 m3
TA7 7 (BIED
N -EidE 2 1 3,249,000 |MEhT-%E 400 m2
7RH& RPN-301 ;
T A% 60 m2
i B RPN-401 ;
TAT 7 VMR AR S T 2 1 121,600 |77yB51Ey=}b 100 m
B IAFES  ME50cem ;
[Hi#R T 2 1 1,393, 743
[ =X 1 1,393, 743 | ¥Amh X EifR 1, 050 m
R TFE) 958 (F) 15em /1. 5mm PeAK &
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R 6 K& L ERE

TEHX4y « Tfd - FER & F iR
a2 X R 4 m
AR FE) R (3R) 15cm JE1. 5mm HEAKMES
LA
(Er‘ﬂ'ﬂﬂ: i 400 m
AR FE) R (3R) 30cm JE1. 5mm HEAKMES
ntﬁ
(Er‘ﬂ'ﬂﬂ: i 32 m
AR TFE) BE# () 15em JE1. 5mm HEAKPEE
ntﬁ
i =X R 300 m
TREFE) 7777 (3) 45cm JE1. 5mm HEAK A
LA
(ﬁmﬁTE i 460 m
T8 KE-FE 5 307 (H) 15emiftE JE1
.5mm PEAKPEAHHE A
e il = X R 2 (&0
SR (FF) H1500 X W750mm JE 1. 5mm HEKPES
LA
e il = X R 1 (&0
v NI (B EREY-)) (H) HI1100XW750 HEAKME
AR
e il = X R 1 (&0
E N IA@ERROSED) () H1100 XW750 HEAKM:
ik
2 1, 291, 780
2 1, 291, 780 B S 1 =
2 21, 310, 921
2 4,488, 800
2 476, 800
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R PERE
TE4 | R 6 KMENHEEERE TF
THEXSy - THE - FE5 H7 & & # i Gl 2 N
R E20 1 142,000 | FRFRAIRIE T2 1 =
Boatr g sty 20 1 58,800 | iE FE i A% HAT - VERCE 1 2
BUGBREIUEL (REH L) 2V 1 276, 000
sty (R L) 2V 1 4,012, 000
ol T 2V 1 25, 799, 721
e R E20 1 10, 573, 000
T AT 2V 1 89, 116, 856
— e PR E20 1 14,113, 144
R LAER (&) 2V 1 610, 000
s LReR (BxE) E20 1 1, 780, 000
N E20 1 105, 620, 000
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Vv = =
FEENRE s
THE4 | R 6 KEENMEERETE
TEHEX Sy - THE - R B {7 ¥ & & # il bl A iR
B A& =X 1 3,696, 138
EEEET = 1 3, 247, 908
EiAEFTH X T =X 1 2,726, 133 | &l T 1 X
TAT7 W MERZE R EEEIE 150mm ;
S IR (20 E 1) 308 m2
TAT7VMERSE AR AfSERRE 15cm ;
GEaL-tilld 46 m3
TA7 7 (RED
By 46 m3
TA7 7 (RED
) 308 m2
FADHDR T A2y (20) SH%EE 50mm 3. Omid ;
] 308 m2
FADHDR T A2y (20) SH%EE 50mm 3. Omid ;
3] 308 m2
PRI ATV (20) AH%E/E 50mm 3. Omi
BN = T 2y 1 521,775 | GIHIF-~" =14 180 m2
TemPA R —J8 B4 0 o AR ET ATy
(20) #&HZEE 50mm ;
s (& B A 9 m3
TA7 7 (BIED)
By 9 m3
TA7 7 (BIED
X JEj R L 2 1 171, 420
X E R L = 1 171, 420 r‘ﬁﬁTl: i 130 m
W FE) FHR(BE) 15cm JE1. bmm HEAKMEES
ntﬁ
r‘ﬁﬁﬂ: hi 110 m
W FE) R (E) 15cm JE1. bmm HEAKMEES
ntﬁ
VA X R 12 m
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FEAENGRE e
THE4 | R6KMENGRERETSE
TEHX4y « Tfd - FER B Az £ & #A i il A R
WA FE) AR (B) 30cm JE1. bmm HEAKMEEE
T =X T R 29 m
WRCTFE) £ 777 (8) 45em &1 5mm HEAKPEES
TR X 2 (&0
ZEYNHR (FF) H1500 X W750mm /51, 5mm HEAMES
TR X 1 (&0
v 7N I (B EREY-)) (H) HI1100XW750 HEAKME
AL
TR X 1 (&0
E 7N TN R ASED) (1) H1100 XW750 HEkdE:
RN
A Y 276, 810
B EHT = 276,810 | A3 Wi EE i B 1 =
[ERAE Xy = 3,696, 138
HiE 2 = 1, 096, 000
BISTIGE: = 209, 000
TERE = 142, 000 | % i b i 2y 1 =
BGRESCGES (5 1) = 67, 000
B (FEHL) = 887, 000
T = 4,792,138
Bl gy = 2,416, 000
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=+ /A = B
FEAENGRE K
THE4 | R6KMENGRERETSE
TEHX4y « Tfd - FER B Az W B & #A i il N BN
T =5l = 1 7,208, 138
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[RE VR 5 VR A5 AR A HT AT G BT Hh e o
Y NS B
FEAENGRE 7
THE4 | R6KMENGRERETSE
TEHX4y « Tfd - FER B Az £ & #A i il A R
JE K e = 2,201, 405
Ak T = 1,817,576
HI—n = A T # 1,682,476 | BIEI4-n"~11 484 m2
(T Ri1EZE)
TemPA T —J8 Bez=d 0 o Rt 107" Ask
Ve TR (13) &fEEE 50mm ;
HOE T (B eIH) 24 m3
(T R1EZE)
TA7 7 (BIED)
RISy 24 m3
(T R1EZE)
TA7 7 (BIED)
TAT 7 VMR AR S T = 135, 100 |77y7Bf51ky—}b 100 m
(T RTEZE)
B IAKERS BESO0cm
X R T = 107, 009
X R T = 107,009 | ¥ il =R i #R 230 m
(T RTEZE)
W FE) FHR(BE) 15cm JE1. bmm HEAKMEES
TR X 4 m
(T RTEZE)
WA FE) AR (B) 30cm JE1. bmm HEAKMEES
A Y 2176, 820
A ERE E T = 276, 820 | A3 EiHEE i B 1 =
(FRITEZE)
[ERANE Xy = 2,201, 405
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R PERE i
TE4 | R 6 KMENHEEERE TF
THEXSy - THE - FE5 H7 & & # i Gl 2 N

iR # 2V 1 725, 000
e Tre: X 1 187, 000

R E20 1 142,000 | GEFR BRI LY 1 ey
BUGBREIUEL (REH L) 2V 1 45, 000
sty (R L) 2V 1 538, 000
ol T 2V 1 2, 926, 405
e R E20 1 1, 496, 000
T AT 2V 1 4, 422, 405
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== /oA = =
FEAENGRE e
THE4 | R6KMENGRERETSE
TEHX4y « Tfd - FER B Az W B & #A i il A R
JE K e = 1 15, 093, 451
Ak T = 1 12, 833, 995
BIHIF—n" <A T X 1 11,561, 385 | GIHIA-»" -1 4,100 m2
TemPA T —J8 Bez=d 0 o I FHASR ET ATy
(20) #&HZEE 50mm ;
HOE T (B eIH) 205 m3
TA7 7 (BIED)
RISy 205 m3
TA7 7 (BIED)
WG T B0 1 1,151,010 | JEh7—H 174 m2
R, RPN-301 ;
TAT 7 M2 AR T = 1 121,600 |77y7Bf51ky—}b 100 m
B IAKERS BESO0cm ;
iR T = 1 1, 336, 756
X [Ej T Y 1 1, 336, 756 r‘ﬁﬁTl: i 640 m
W FE) FHR(BE) 15cm JE1. bmm HEAKMEEE
ntﬁ
r‘ﬁﬁTl: i 9 m
W FE) R (35) 30cm JE1. bmm HEAKMEES
ntﬁ
r‘ﬁﬁTl: i 5 m
W FE) AR (B) 15cm JE1. bmm HEKMEES
ntﬁ
r‘ﬁﬁﬂ: i 110 m
WA FE) AR (B) 30cm JE1. bmm HEAKMEES
ntﬁ
(ﬁmﬁTE i 87 m
A FE) v 777 (8) 45em JE 1. Smm HEK AR
ntﬁ
r‘ﬁﬁﬂ: i 160 m
A T8 JKE) -5 30 (H) 15emifE JE1
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== /oA = =
FERANERE e
THE4 | R6KMENGRERETSE
TEHX4y « Tfd - FER B Az £ & #A i il R
. 5mm PEAKPEE A
T =X T R 19 m
T8 KED-FE 5 307 () 15emiftE JE1
. 5mm PEAKPEE A
TR X 4 (&0
ZEPHR (FF) H1500 X W750mm /51, 5mm HEAMES
TR X 2 (&0
v 7N I (B EREY-)) (H) HI1100XW750 HEAKME
AR
TR X 2 (&0
t M A (BERRSRED) (1) H1100 XW750 HEAK%
AR
AR RRME X )R 120 m
)77 X RR) 28R (H) 15em ;
AR RRME X )R 430 m
)77 A GERD) R (%) 30cm ;
A Y 922, 700
A ERE E T = 922, 700 | A3 iEAHEE B 1 =
[ERAE Xy = 15, 093, 451
IR = 3, 420, 000
BISTI S = 353, 000
TERE = 142, 000 | % i b i 2y 1 =
BGRESCGES (5 1) = 211, 000
B (FEHL) = 3, 067, 000
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B PIARTS i
TE4 | R 6 KMENHEEERE TF
THEXSy - THE - FE5 H7 & & # i Gl 2 N
ol T 2V 1 18, 5183, 451
e R E20 1 8, 061, 000
T AT 2V 1 26, 574, 451
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=+ /A = e
FEAENGRE e
THE4 | R6KMENGRERETSE
TEHX4y « Tfd - FER B Az W B & #A i il N BN
JE K e = 1 7,714, 141
Ak T = 1 6, 990, 550
BIEIA-N - T2 = 1 6,929, 750 | B =14 2, 500 m2
TemPA T —J8 Bez=d 0 o I FHASR ET ATy
(20) #&HZEE 50mm ;
HOE T (B eIH) 125 m3
TAT7 bk (CBIED
RISy 125 m3
TAT7 bk (BJED
TAT 7 VMR AR S T = 1 60, 800 | 77vJBh 1RV} 50 m
B IAKERS BESO0cm ;
X R T = 1 337, 141
X R T = 1 337,141 | ¥ Eh X R 570 m
W FE) FHR(BE) 15cm JE1. bmm HEAKMEEE
i =X R 290 m
W FE) AR (B) 15cm JE1. bmm HEKMEES
e il = X R 2 (&0
ZEYNHR (FF) H1500 X W750mm /51, 5mm HEAMESE
A Y 1 386, 450
AEEHT Y 1 386, 450 | AZ Wk B B 1 =
[ERANE Xy = 1 7,714, 141
HiE 2 1 2,071, 000
BISTI S = 1 267, 000
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R PERE i
TE4 | R 6 KMENHEEERE TF
THEXSy - THE - FE5 H7 & & # i Gl 2 N

R E20 1 142,000 | GEFR ALY 1 Ey
BUGBREIUEL (REH L) 2V 1 125, 000
sty (R L) 2V 1 1, 804, 000
ol T 2V 1 9, 785, 141
e R E20 1 4, 754, 000
T AT 2V 1 14, 539, 141
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